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Results by Question

1. Please do Question 1 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count

OM)(c) 40.63% 26

Oo(1) 12.5% 8

O(N) 6.25% 4

? 3.13% 2

MLOG(N) 3.13% 2

N+M 3.13% 2

O(LOGM) 3.13% 2

O(M*N) 3.13% 2

0 1.56% 1

ALPHA(M) 1.56% 1

ALPHA(N) 1.56% 1

LOGN 1.56% 1

M(c) 1.56% 1

N 1.56% 1

NLOGM 1.56% 1

O(ALPHA(M)) 1.56% 1

O(LOG(N)) 1.56% 1

O(LOGN) 1.56% 1

OM LOG N) 1.56% 1

OM(N)) 1.56% 1

O(M-N) 1.56% 1

O(MLOG(N)) 1.56% 1

O(MLOGN) 1.56% 1
OMN) 1-26% : Keyword(s):

O(m);m



O(LOGN) MLOG(N)
ALPHA(N)
O(M LOG N) o) o
LOGN O( N) ? O(M(N()))(LOG(N))
O ( M ) ALPHA(M)
O(LOGM) O(M*N)
O(ALPHA(M)) O(MLOG(N))

2. Please do Question 2 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count
oM) 14.06% 9
o) 6.25% 4
O(M*2) 6.25% 4
O(A(N)) 4.69% 3
O(ALPHA(N)) 4.69% 3
? 3.13% 2




O(LOG(M))
O(M ALPHA(M))
O(MLOG(N))
O(MLOGN)
0(LOGN)

1

ALPHAM
ALPHA(MA2)
MA2LOG(N)
MLOG(N)
NLOGM

N LOG MA2
N*M
NLOG(M)

om,
O(ALPHA(M))

O(2M LOG N)
O(A(M))
O(ALPHA())
O(ALPHA(M))
O(ALPHA)
O(LOGM)
O(LOGN)

OM + A(M))
O(M ALPHA())
O(M LOG N)
O(M LOG(N))
O(M(LOG(M))
O(M*LOG(N))
O(M*N)

O(M/N)

3.13%

3.13%

3.13%

3.13%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%

1.56%




O(MA2N) 1.56% 1
O(MALPHA(N)) 1.56% 1
O(MLOG(M)) 1.56% 1
O(N M) 1.56% 1
O(NALPHA(M)) 1.56% 1 Keyword(s): O(m alpha(n));m
alpha(n)

O(M(LOG(M))
O(MALPHA(N))
O(M*LOG(N)) O(A( N))

O(2M LOG N)

O(ALPHA) MA2LOG(N)
ALPHAM o ALPHA(M))
O(M ALPHA())

O(LOGM) ? O M RS
oA _ 0(LOGN)
O(M + A(M)) O(LOG(M))
NLOG(M) OMAN) O(M/N)
N LOG MA2 A 1 O(MLOGN)
N LOG M O(M 2) O(M ALPHA(M))
MLOG(N) (MLOG(N)) O(MLOG(M))

O(1) , O(ALPHA(M))
ALPHA(MA2)

3. Please do Question 3 which is displayed on the screen in class. (Short Answer)

Percent Count

O(N) ‘ 39.06% | 25 |




O(1)

O(N*2)
O(NLOGN)

N
OINLOGN)(c¢)
?

NA2
O(LOG(N))
O(LOGN)

13
ALPHA(NA2)
NLOGN
O(NLOG (N))
O(2N)
O(NLOG(N))

Totals

15.63% 10
7.81% 5
6.25% 4
4.69% 3
4.69% 3
3.13% 2
3.13% 2
3.13% 2
3.13% 2
1.56% 1
1.56% 1
1.56% 1
1.56% 1
1.56% 1
1.56% 1

Keyword(s):

O(n log n);n log n



O(N LOG N) , N

O(2N)
N O( N LOG (N))
ALPHA(NA2)

) O(NA2) otos

4. Please do Question 4 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count

5 50.79% 32
6 15.87% 10
4 7.94% 5
10 6.35% 4
32 3.17% 2
? 3.17% 2




16(c)

3

31

5!

7

9
ALPHA(5)

Totals

1.59% 1
1.59% 1
1.59% 1
1.59% 1
1.59% 1
1.59% 1
1.59% 1
1.59% 1

Keyword(s):

16

ALPHA(S)

9

5!4

16

32

5. Please do Question 5 which is displayed on the screen in class. (Short Answer)



15

5!

13
16(c)
25

8

Totals

Responses

Percent Count
53.97% 34
11.11% 7
11.11% 7

3.17% 2
3.17% 2
3.17% 2
3.17% 2
3.17% 2
1.59% 1
1.59% 1
159% 1
1.59% 1
1.59% 1

Keyword(s):
Keyword Matches:

16
1



16

15



